P/C_&	7-24-3	n Safet	Â
CA P	1029-	7-71	/
1stR		-	
2 nd R_{\perp}			
3rd R $$			
B/C -			

CITY OF BROOK PARK, OHIO

ORDINANCE NO: <u>11215-2021</u>

INTRODUCED BY: MAYOR GAMMELLA & CW

AN ORDINANCE

AUTHORIZING THE MAYOR TO ENTER INTO A
CONTRACT WITH MES DBA WARREN FIRE EQUIPMENT,
FOR THE PURCHASE OF SCBA UNITS, AND DECLARING AN EMERGENCY

NOW, THEREFORE, BE IT ORDAINED, by the Council of the City of Brook Park, State of Ohio, that:

SECTION 1: The Mayor is hereby authorized to enter into a contract, with MES, dba Warren Fire Equipment, for the purchase of SCBA Units listed on the Sourcewell Contract # 04022020REV2, which is further described in Exhibit "A" (quote).

<u>SECTION 2</u>: The money needed for the aforesaid transaction shall be paid from Fund No. 401, Capital Fund; theretofore appropriated or to be appropriated for said purpose.

SECTION 3: It is found and determined that all formal actions of this Council concerning and relating to the adoption of this Ordinance were adopted in an open meeting of this Council, and that all deliberations of this Council and of any of its committees that resulted in such formal action were in meetings open to the public in compliance with all legal requirements, including Section 121.22 of the Ohio Revised Code.

SECTION 4: This Ordinance is hereby declared to be an emergency measure immediately necessary for the preservation of the public peace, health, safety and welfare of said City, and for the further reason to allow the City to purchase SCBA Units; therefore provided this ordinance receives the affirmative vote of at least five (5) members elected to Council, it shall take effect and be in force immediately upon its passage and approval by the Mayor; otherwise, from and after the earliest period allowed by law.

PASSED: Sestember 7	2021 Miffelleuhio
Milale Ble	PRESIDENT OF COUNCIL
ATTEST://///Allo//Xu/	APPROVED: MAYOR
	9/7/2021 DATE
CERTIFICATE Michelle Biazak, Clerk of Council, of the City of Brook Park, Ohio, do hereby certify that the foregoing is a true and accurate copy of Ordinance/Resolution No	I, Michelle Blazak, Clerk of Council for the City of Brook Park, State of Ohis, do hereby certify that there is no newspaper of general circulation in the municipality and that publication of the foregoing ordinances/ resolutions was made by footing true copies at five of the most public places in said municipality as determined by Ordinance No. 4838-1975; location. City Hall 6161 Engle Road, Police Station 17401 Holland Road, 87 Fire Station 22530 Ruple Parkway, 48 Fire Station 17401 Holland Road, Brook Park Library \$165 Engle Road, for a period of fifteen days, compension.
20 Dy said council. This hell by the Clerk of Council	Commencine Application William Michelle BLAZIK Clerk of Council
*	
Troyer Mencini Orcutt Scott	Yea Nay

Schmuck _ Poindexter _ Salvatore _

I HERIEBY APPROVE THE WITHIN INSTRUMENT AS TO LEGAL FORM AND CORRECTNESS

DIRECTOR OF LAW



6880 Tod Avenue SW Warren, OH 44481



Bill To

BROOK PARK FIRE DEPARTMENT 17401 HOLLAND ROAD BROOKPARK OH 44142 United States

Quote

Page 1 of 2

Date Quote # 06/24/2021 QT1466557

Expires

09/30/2021

Sales Rep

VanKanegan, Cory

PO#

X3 Pro, 4.5 Configuration

Shipping Method Shipping Code (2) FedEx Ground

Ship To

BROOK PARK FIRE DEPARTMENT 17401 HOLLAND ROAD BROOKPARK OH 44142 United States

lieio	/Altelliani# 1	Units Description	QTÝ:	Unit Sales :	Atanoisia
X8914026305A0 3		Air-Pak X3 Pro SCBA (2018 Edition) with Snap-Change Parachute Buckles	22	6,585.00	144,870.00
		4.5 Standard No Escape Rope E-Z Flo C5 Regulator with Quick Connect Hose (Rectus fittings) Universal EBSS None No SEMS II Pro No Case 1 SCBA Per Box (Black)	The control of the latter of t		
Scott X3	X8914026301	X8914026301A03 Scott X3 Air-Pak X3 Pro SCBA (2018 Edition) with Snap-Change Parachute Buckles 4.5 Standard No Escape Rope E-Z Flo C5 Regulator with Quick Connect Hose (Rectus fittings) Universal EBSS None Yes (with UEBSS Pouch) SEMS II Pro No Case 1 SCBA Per Box (Black)	6	7,200,00	43,200.00
200129-01		Snap-Change Cylinder, Carbon-Wrapped, Pressure 4500, 45 Minutes (at 40 lpm)	28	1,125.00	31,500.00
200129-01		Snap-Change Cylinder, Carbon-Wrapped, Pressure 4500, 45 Minutes (at 40 lpm)	28	0.00	0.00
FP1MK0002M10 010		C5,M,KV,RDI/BCH, MOT, EN,	25	1,210.00	30,250,00
FP1LK0002M10 010		Vision C5 Facepiece with Radio Direct Interface and Bone Conduction Headphone, Motorola®, Large	15	1,210.00	18,150.00
Scott X3	CF5V2DDB	CF5V2DDB Scott X3 Vision C5 Charger, AC Power. Capable of charging 2 batteries simultaneuosly.	2	625.00	1,250.00
Scott X3	CF5V2DH0	CF5V2DH0 Scott X3 Vision C5 Charger, DC Power, Capable of charging 2 batteries simultaneously.	3	625.00	1,875.00
200954-32		RiT-Pak III, 4.5, Large, Rectus Fitting	2	3,205.00	6,410.00
804723-01		(HM) CYL&VLV CARBON 60	2	1,265.00	2,530.00
MB2-200		Mask Bag - Black square canvas w/black fleece lining	50	22.00	1,100.00



Quote

Page 2 of 2 Date Quote #

06/24/2021 QT1466557



Schrader Male,	1	1 3		
Contact Male,	Schrader Male, Rectus Female 6' SUPPLY HOSE,SCHRADER	2	115.00	230.00
Schrader Male,	Schrader Male, Rectus Female 25' SUPPLY HOSE,SCHRADER	2	185.00	370.00
201506-01	201506-01 Scott X3 Battery Pack, Lithium Ion C5	10	85.00	850.00
	E-Z Flo C5, Quick Connect Hose, Rectus	12	1,535.00	18,420.00
iM2450-x0000	iM2450-x0000 PELICAN Cases Pelican 2450 Case, NO FOAM	1	130.00	130.00
AL ACCIONATION DE LA CALLANTA DE LA	4-6 hour Specialist Level Maintenance Trair (1-10 students)	ning Class- 1	2,000.00	2,000.00
	Fit Test Service	40	40.00	1,600.00
1064-205-000	1064-205-000 Custom ZIAMATIC Backplate, low-profile clips & short footplate KD-LP-6-SF	ano strap	60,00	1,020.00
1010-120-000	1010-120-000 Custom ZIAMATIC Collision Restraint Strap, CRS	17	52.00	884.00
A. II. a. (s) in	Scott Parts TBD	Part 1	1,500.00	1,500.00
	Sourcewall Gustomer ID 3 Sourcewall REP #04022020	3065) 1REV/2		
	201506-01 iM2450-x0000	Schrader Male, Schrader Male, Rectus Female 25' SUPPLY HOSE, SCHRADER 201506-01 Scott X3 Battery Pack, Lithium Ion C5 E-Z Flo C5, Quick Connect Hose, Rectus iM2450-x0000 PELICAN Cases Pelican 2450 Case, NO FOAM 4-6 hour Specialist Level Maintenance Train (1-10 students) Fit Test Service 1064-205-000 Custom ZIAMATIC Backplate, low-profile clips & short footplate KD-LP-6-SF 1010-120-000 Custom ZIAMATIC Collision Restraint Strap, CRS Scott Parts TBD	Schrader Male, Schrader Male, Rectus Female 25' SUPPLY HOSE, SCHRADER 2 201506-01 201506-01 Scott X3 Battery Pack, Lithium Ion C5 10 E-Z Flo C5, Quick Connect Hose, Rectus 12 IM2450-x0000 1 PELICAN Cases Pelican 2450 Case, NO FOAM 4-6 hour Specialist Level Maintenance Training Class-(1-10 students) 1 Fit Test Service 40 1064-205-000 1064-205-000 Custom ZIAMATIC Backplate, low-profile clips & short footplateno strap KD-LP-6-SF 17 1010-120-000 1010-120-000 Custom ZIAMATIC Collision Restraint Strap, CRS Part 1	Schrader Male, Schrader Male, Rectus Female 25° SUPPLY HOSE, SCHRADER 2 185.00 201506-01 201506-01 Scott X3 Battery Pack, Lithium Ion C5 10 85.00 E-Z Flo C5, Quick Connect Hose, Rectus 12 1,535.00 IM2450-x0000 1 130.00 PELICAN Cases Pelican 2450 Case, NO FOAM 1 2,000.00 4-6 hour Specialist Level Maintenance Training Class-(1-10 students) 1 2,000.00 Fit Test Service 40 40.00 1064-205-000 17 60.00 Custom ZIAMATIC Backplate, low-profile clips & short footplateno strap KD-LP-6-SF 1 52.00 1010-120-000 17 52.00 Custom ZIAMATIC Collision Restraint Strap, CRS Part 1 1,500.00

Subtotal Shipping Cost (FedEx Ground) Total 308,139.00 0,00 \$308,139.00

This Quotation is subject to any applicable sales tax and shipping & handling charges that may apply. Tax and shipping charges are considered estimated and will be recalculated at the time of shipment to ensure they take into account the most current local tax information.

All returns must be processed within 30 days of receipt and require a return authorization number and are subject to a restocking fee.

Custom orders are not returnable. Effective tax rate will be applicable at the time of invoice.

